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QUESTION 1

a) In a class of X pupils, the ratio of the passes to
failures in a certain test was 6 to 1. Find the number
of pupils who passed the test in terms of x .
(1 mark)

b) Tau, Igo and Iro share a bag of mangoes in the ratio
7:5:14. If Igo receives 18 mangoes less than Iro,

how many mangoes does Iro receive? (2 marks)

c¢) There is enough food at a camp to feed 300 campers
for 12 days. How many days would the same

amount of food last 480 campers? (2 marks)

QUESTION 2

The frequency distribution shows the distribution of
Income per fortnight of a randomly selected sample.

Income Count

100-299 55
300-499 85
500-699 150
700-899 315
900-1099 164
1100-1299 46
1300-1499 29

a) What is the sample size? [1 mark]
b) How many people earn less than K900?  [1 mark]
¢) What is the range of the Income? [1 mark]

d) What is the midpoint Income of the third class?
[1 mark]
e) Plot a histogram to picture the Income distribution.
[1 mark]

QUESTION 3
Study the graph below and answer the following

questions.

a) Find the equation of the parabola (2 marks)

b) Find the coordinates at which the parabola intersects

the line y =2x+3 (3 marks)

QUESTION 4

A ship leaves a port A and travels 215 km on a bearing
of 113° to port B and then travels on a bearing of

1727 to another port C, 305 km away.
a) Sketch the ships Journey (1 mark)
b) Calculate the direct distance from A to C. (2 marks)

¢) What is the bearing from Port C to Port A? (2 marks)
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QUESTION 5

The table below shows the data on family size x and the
amount spent y on food per week. The equation of the
line of best fitis y = 112.4 + 32.7x.

x|y
3 ]210
6 | 320
8 |350
10 | 450

a) Draw a scatter diagram on the grid provided.

[2marks]
b) What type of relationship exists between X and Y?
[1 mark]
c) Interpret the coefficient of X.
[1 mark]
d) Predict the amount spent on food for a family size of
12. [1 mark]

QUESTION 6
a) A formula involving force, mass and acceleration is
F = ma . Find the value of F' when

m=12anda =3 [1 mark]

b) Make x the subject of the formula ax — p =¢
[1 mark]
¢) The sum of three consecutive whole numbers is 168.

Find the numbers. [3 marks]

QUESTION 7
P
The formula / = W may be used to find the simple

interest earned by a principle of KP invested at the rate
of R% per annum for a period of N years.

a) Calculate the simple interest of K6, 000 invested at
the rate of 12% for 3 years. [1 mark]

b) Calculate the principle that earned the simple
interest of K500 at the rate of 15% for 5 years. [2

marks]

c) Find the rate that earned the simple interest of K450
with the principle of K8, 100 for 3 years. [2 marks]

QUESTION 8

a) Sketch the parabola y = —x> —x+6 onthe grid

provided. [2 marks]
b) On the same grid, sketch the exponential y = 2" -5
[2 mark]

c¢) Shade the region that is bounded by the parabola, the
hyperbola and x = 0. [1 mark]

QUESTION 9
The following diagram is that of a quadrilateral ABCD.
AB=12,AE=8,BD=19.5,BE=xand DE =y. All

dimensions are in metres.

B C
12 19.5
—
A 8 E D
a) Calculate the length BE (1 mark)
b) Calculate the length DE (2 marks)

¢) Find the area of the quadrilateral ABCD (2 marks)
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QUESTION 10

a) A certain shop allows cashing of cheques, but requires
5% fee for cashing of cheque and 15% worth of
shopping. If the cheque is worth K875,

(i) How much is the shopping worth? [2 marks]
(i1) How much is the cash back?

b) Ben is a craftsman who sells his carvings at the craft
market. If he sells a carving at discount of 25% that is
worth K245, what is the discounted price?

[1 mark]

c) When a shopkeeper sells an article for K135.50 he
makes a profit of 25%. What is the price he paid for
the article?

[2 marks]

END OF EXAMINATION
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Paper 2 Answer Booklet

Write your province, school and candidate number, your name and your
school name in the space provided below.

s

Year Province School Candidate No

1.2

Candidate Name:

School Name:

This answer booklet has sections created for each question.

All answers must be written in this booklet and in the appropriate spaces
provided.

SCORE Marker 1 | Marker 2

Question 1

Question 2

Question 3

Question 4

Question 5

Question 6

Question 7

Question 8

Question 9

Question 10

TOTAL
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QUESTION 1

a) (1 mark)
b) (2 marks)
C) (2 marks)

QUESTION 2
a) (1 mark)
b) (1 mark)
c) (1 mark)
d) (1 mark)

e) (1 mark)
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total for this question

total for this question

Marker 1  Marker 2 Marker 1  Marker 2
QUESTION 3 QUESTION 4
a) (2 marks) a) (1 mark)
b) (2 marks)
b) (3 marks)
C) (2 marks)
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total for this question

total for this question

Marker 1  Marker 2 Marker 1  Marker 2
QUESTION 5 QUESTION 6
a) (2 marks) a) (1 mark)
y
N
500
450
400
350
300
250
200
150
100
50
0 2 2 6 8 10 12 12 1 18 2 ° «x b) (1 mark)
b)
(1 mark)
c)
1 k
(1 mark) c) (3 marks)

d)
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(1 mark)

total for this question

total for this question

Marker 1  Marker 2 Marker 1  Marker 2
QUESTION 7. QUESTION 8.
a) (1 mark)
y
8
6|
8 b 4 2 [ 8 X
-2
b) (2 marks) =+

L= 2%

-10

a) (2 marks)
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c) 2
marks)

b) (2 marks)

¢) (1 mark)

total for this question

Marker 1  Marker 2

total for this question

Marker 1  Marker 2

QUESTION 9.

a) (1 mark)

b) (2 marks)

QUESTION 10
a) (2marks)
b) (Imark)
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total for this question

Marker 1

Marker 2

total for this question

Marker 1

Marker 2




UPPER SECONDARY SCHOOL CERTIFICATE EXAMINATIONS
FORMULAE SHEET FOR GENERAL MATHEMATICS

MENSURATION
0
Arc Length L = 355 2mr
0
Area of Sector A = 350 i
Surface Area of Cylinder A = 2m” + 2mh
Surface Area of Sphere A = 4m?
Curved Surface Area of Cone A = mL
4
Volume of Sphere V=3 e
Interior Angles of Polygon S = (n-2)x 180°
INTEREST
T n
Compound Interest A = P(l + m)
\
ALGEBRA
bV b2-4
Quadratic Formula x = Tac
ANALYTIC GEOMETRY
Distance between d = \/ () — xl)2 +(yp — yl)2
two points
X1 + X y +y
Mid-point of Interval % ) %
: : 27N
Gradient of a Line X,—x = m = tan 0
TRIGONOMETRY
. a b C
Sine Rule simA = sinB = sinC
Cosine Rule ¢ = a®>+b>—2abcos C
1
Area of Triangle A = 7 absinC
Conversion ™ = 180°
Arc Length L = r6°
1
Area of Sector A =73 r26C
1
Area of Minor Segment A =7 r2(6C —sin ec)
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